
ITI Electronic Mechanic 2nd Year Module 15 LCD and LED TV 

 

(1). What is the full form of OLED? | OLED का फुल फॉमŊ Ɛा है? 

(A)   Organic Light Emitting Diode 

(B)   Organic Layer Enabled Diode 

(C)   Organic Level Enhanced Diode 

(D)   Organic layer Enhanced Diode 

Correct Answer : A 

 

(2). What is the disadvantage of Twisted Nematic display? | िǩːेड नेमैिटक िड̾ɘे 
का Ɛा नुकसान है? 

(A)   Ghosting effects | गोİːंग इफेƃ्स 

(B)   Wide viewing angle | वाइड देखने के कोण 

(C)   Faster battery drain | तेज बैटरी डŌ ेन 

(D)   Low quality colour reproduction | कम गुणवȅा रंग पुनŜȋादन 

Correct Answer : D 

 



(3). What is the name of LED monitor part marked ‘X’? | LED मॉिनटर भाग का नाम 
Ɛा है, जो ഻X഻ के ŝप मŐ िचि˥त है? 

 

(A)   Colour filter | कलर िफ़ʐर 

(B)   Horizontal filter | हॉįरजॉȴल िफ़ʐर 

(C)   Vertical filter | वटŎकल िफ़ʐर 

(D)   Crystal molecule | िŢːल मॉिलƐूल 

Correct Answer : D 

 

(4). What is the full form of HPT? | HPT का फुल फॉमŊ Ɛा है? 

(A)   High Power Transformer 

(B)   High Power Terminal 

(C)   High Power Transmitter 

(D)   High Power Transistor 

Correct Answer : C 

 

(5). Which transmission technique produces the waveform with lower side band 
suppressed for the carrier of TV signal? | कौन सी टŌ ांसिमशन तकनीक TV िसưल के 



वाहक के िलए ˚ेˣेड िनचले साइड बœड के साथ तरंग का उȋादन करती है? 

 

(A)   SSB transmission | SSB टŌ ांसिमशन 

(B)   DSB transmission | DSB टŌ ांसिमशन 

(C)   Vestigial side band transmission | वेİːिजयल साइड बœड टŌ ांसिमशन 

(D)   Frequency shift keying transmission | ůीƓŐ सी िशɝ कीगं टŌ ांसिमशन 

Correct Answer : C 

 

(6). What is the characteristic of transmitting antenna in TV broadcasting? | TV 
Ůसारण मŐ एंटीना Ůसाįरत करने की Ɛा िवशेषता है? 

(A)   Minimise distortion | वीिडयो िसưल का पता लगाने के िलए 

(B)   Detect video signal | वीिडयो संकेत का पता लगाने 

(C)   Converts picture into image | छिव को िचũ मŐ ŝपांतįरत करता है 

(D)   Radiates electromagnetic waves | िवद्युत चुɾकीय तरंगो ंको Ůसाįरत करता है 

Correct Answer : D 



 

(7). Which parameter is related to power loss in electronic circuit? | इलेƃŌ ॉिनक 
सिकŊ ट मŐ िबजली की हािन का संबंध िकस पैरामीटर से है? 

(A)   Modulation | मॉǰूलेशन 

(B)   Attenuation | Ɨीणन 

(C)   Decoupling | डीकॉपिलंग 

(D)   Amplification | िवˑारण 

Correct Answer : B 

 

(8). Which term is related to the information about hue and saturation of a 
colour? | कौन सा अविध रंग और एक रंग की संतृİɑ के बारे मŐ जानकारी से संबंिधत है? 

(A)   Luminance | लुिमनस 

(B)   Chrominance | ŢोिमनŐस 

(C)   Resonance | रेजोनŐस 

(D)   Ferroresonance | फेरŖरेसोनɌ 

Correct Answer : B 

 



(9). What is the name of the dismantled LCD monitor display part marked ‘X’? | 
िवखंिडत LCD मॉिनटर िड̾ɘे मŐ िचİɎत भाग ഻X ’का नाम Ɛा है? 

 

 
(A)   Fresnel lens | ůेसनेल लŐस 

(B)   Light filter plates | लाइट िफ़ʐर ɘेट्स 

(C)   Colour filter plates | कलर िफ़ʐर ɘेट्स 

(D)   Polarised glass plates | पोलराइͅड Ƹास ɘेट्स 

Correct Answer : D 

 

(10). Which layer is positively charged in OLED TV display? | OLED TV िड̾ɘे मŐ 
िकस लेयर को पॉिजिटवली चाजŊ िकया जाता है? 

(A)   Thermal layer | थमŊल लेयर 

(B)   Control layer | कǵŌ ोल लेयर 

(C)   Emissive layer | Emissive लेयर 

(D)   Conductive layer | कंडİƃवे लेयर 

Correct Answer : D 

 



(11). Which material is used as cathode in OLED? | OLED मŐ कैथोड के ŝप मŐ िकस 
सामŤी का उपयोग िकया जाता है? 

(A)   Calcium | कैİ̵शयम 

(B)   Zinc oxide | िजंक आƛाइड 

(C)   Selenium sulphide | सेलेिनयम सʚाइड 

(D)   Indium tin oxide | इंिडयम िटन ऑƛाइड 

Correct Answer : A 

 

(12). What is the full form of LPT? | LPT का फुल फॉमŊ Ɛा है? 

(A)   Low Process Transmission 

(B)   Low Power Transmitter 

(C)   Low Power Television 

(D)   Low Profile Telecasting 

Correct Answer : B 

 

(13). What is the function of the circuit? | सिकŊ ट का कायŊ Ɛा है? 

 

(A)   FM receiver | एफएम įरसीवर 

(B)   AM transmitter | AM टŌ ांसमीटर 

(C)   Infrared receiver | इ̢ůारेड įरसीवर 



(D)   Infrared transmitter | इ̢ůारेड टŌ ांसमीटर 

Correct Answer : D 

 

(14). What is the range of frequencies covered under S-Band used for TV signal 
transmission? | TV िसưल टŌ ांसिमशन के िलए उपयोग िकए जाने वाले S-बœड के तहत आने 
वाली आवृिȅयो ंकी सीमा Ɛा है? 

(A)   41 MHz to 68 MHz 

(B)   88 MHz to 104 MHz 

(C)   104 MHz to 174 MHz 

(D)   174 MHz to 230 MHz 

Correct Answer : C 

 

(15). What is the function of tuner in TV receiver? | TV įरसीवर मŐ Ǩूनर का कायŊ 
Ɛा है? 

(A)   Allows ghost image signal | छाया छिव संकेत की अनुमित देता है 

(B)   Allows adjacent channel signal | िनकटवतŎ वािहकाओ ंसंकेत की अनुमित देता है 

(C)   Select the desired channel signal | इİǅत चैनल संकेत का चयन करŐ  

(D)   Modulated RF signal with audio signal | ऑिडयो संकेत के साथ संŤाहक आरएफ 
संकेत 

Correct Answer : C 

 

(16). What is the name of the adapter used to interconnect a computer system? | 
कंɗूटर िसːम को इंटरकनेƃ करने के िलए उपयोग िकए जाने वाले एडाɐर का नाम Ɛा 



है? 

 

(A)   VGA adapter | VGA एडाɐर 

(B)   DVI to RCA adapter | DVI टु RCA एडाɐर 

(C)   DVI to HDMI adapter | DVI टु HDMI एडाɐर 

(D)   DVI to VGA/D-sub adapter | DVI टु VGA/D-सब एडाɐर 

Correct Answer : C 

 

(17). What is the input frequency range of the set-top box used for cable TV 
application? | केबल TV एİɘकेशन के िलए उपयोग िकए जाने वाले सेट-टॉप बॉƛ की 
इनपुट आवृिȅ रŐज Ɛा है? 

(A)   47 MHz to 86 MHz 

(B)   88 MHz to108 MHz 

(C)   110 MHz to 862 MHz 

(D)   880 MHz to 2150 MHz 

Correct Answer : C 

 



(18). What is the name of the connector part marked ‘X’? | X഻ िचि˥त कनेƃर के 
भाग का Ɛा नाम है? 

 

(A)   DVI connector | DVI कनेƃर 

(B)   DB9 connector | DB9 कनेƃर 

(C)   HDMI connector | HDMI कनेƃर 

(D)   15 pin VGA male connector | 15 िपन VGA मेल कनेƃर 

Correct Answer : D 

 

(19). What is the wavelength of Infra Red light rays produced by the IR LED? | IR 
LED Ȫारा िनिमŊत इंŽा रेड लाइट रेज़ की वेव लŐथ Ɛा है? 

(A)   450 to 500 nanometer 

(B)   550 to 570 nanometer 

(C)   585 to 595 nanometer 

(D)   850 to 940 nanometer 

Correct Answer : D 



 

(20). Why aluminium is used as lamp body? | एʞुिमिनयम का उपयोग लœप बॉडी के 
ŝप मŐ Ɛो ंिकया जाता है? 

(A)   Block AC | ɰॉक एसी 

(B)   Produces heat | गमŎ पैदा करता है 

(C)   Dissipate heat | उˆा नʼ करना 

(D)   Eliminate loss | नुकसान को खȏ करना 

Correct Answer : C 

 

(21). Which fault frequently occurs in the IR type remote control unit? | IR टाइप 
įरमोट कंटŌ ोल यूिनट मŐ अƛर कौन सा दोष पाया जाता है? 

(A)   Defective IR LED | दोषपूणŊ IR LED 

(B)   Broken circuit board | टूटी सिकŊ ट बोडŊ  

(C)   Corroded battery contact | जीणŊशीणŊ बैटरी संपकŊ  

(D)   Wrong positioning of device | िडवाइस के गलत İ̾थित 

Correct Answer : C 

 

(22). How much service area is covered by a low power TV signal transmitter? | 
कम पावर TV िसưल टŌ ांसमीटर Ȫारा िकतना सेवा Ɨेũ कवर िकया जाता है? 

(A)   10 Km radius 

(B)   20 Km radius 

(C)   25 Km radius 

(D)   50 Km radius 

Correct Answer : B 



 

(23). What is the full form of NTSC? | NTSC का पूणŊ ŝप Ɛा है? 

(A)   National Television Selection Committee 

(B)   National Television Service Committee 

(C)   National Television Systems Committee 

(D)   National Television Section Committee 

Correct Answer : C 

 

(24). What is the full form of PAL? | PAL का पूणŊ ŝप Ɛा है? 

(A)   Peak Alternating Line 

(B)   Pulse Alternating Line 

(C)   Phase Alternate Line 

(D)   Primary Alternating Line 

Correct Answer : C 

 



(25). Which cable is used to connect LED TV and media device? | LED TV और 
मीिडया िडवाइस को जोड़ने के िलए िकस केबल का उपयोग िकया जाता है? 

 

(A)   USB Cable | यूएसबी केबल 

(B)   RCA Cable | आरसीए केबल 

(C)   HDMI Cable | एचडीऍमआई केबल 

(D)   Optical Cable | ऑिɐकल केबल 

Correct Answer : C 

 

 


